Name
@ Addition Word Problems: Single Digit .

WPA:02

1)

2)

3)

4)

A bird cage has 2 cockatoos and 6 parakeets. How many birds does the
cage contain?

Tim carries 4 textbooks and 5 notebooks to school. How many books does
he carry altogether?

John's friends party at an ice cream parlor. They ordered 9 strawberry
flavored and 6 chocolate flavored ice creams. How many ice creams
did they order?

Kennet has a small pond in his rock garden. There are 4 turtles and
7 fishes. How many animals are there in the pond?

Infobit

v owne of the rarest and
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Name
@ Addition Word Problems: Single Digit .

Answer key WPA:02

1)

2)

3)

4)

A bird cage has 2 cockatoos and 6 parakeets. How many birds does the
cage contain?

8 birds

Tim carries 4 textbooks and 5 notebooks to school. How many books does
he carry altogether?

9 books

John's friends party at an ice cream parlor. They ordered 9 strawberry
flavored and 6 chocolate flavored ice creams. How many ice creams
did they order?

15 ice creams

Kennet has a small pond in his rock garden. There are 4 turtles and
7 fishes. How many animals are there in the pond?

11 animals
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